Topic 2

Name

@ Assessment

I. Carrie has 4 ribbons. Her 2. Juan has 2 stickers.

sister gives her 3ribbons. i  His feacher gives him
How many ribbons does 6 stickers. How many
Carrie have now? stickers does Juan have
@ 5 in all?
6
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3. James buys 3 red apples. He also buys 3 green apples.
How many apples does James buy? How can you
count on to find the answer?

4. Count back to find the difference.
Show your work.

6—2=
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9. Which addition equations help you solve
6 — 5?7 Choose all that apply.

D6+1=7
O5+1=6
J1+5=6

10. Find 3 + 6. Use the number line fo count on.
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3+6=____

I1. Julie has 2 cards. Michael | 12. 2 bugs are on a leaf.
gives her 5 more. How 2 more join them. How
many cards does Julie many bugs in all? Draw
have in all? a picture and write an

5 equation.
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